How many different ways can you
balance the equation?
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Possible answers:

5.3_8.0
gt g3=3tg
5. 4_8 1
gt g3=3tg
5.5_8 2
gt 3=3tg

Any combination
of fractions where
the numerators
add up to the
same total on
each side of the
equals sign.

A chocolate bar has 12 equal pieces.

5
Amir eats S more of the bar than
Whitney.

There is one twelfth of the bar remaining.
What fraction of the bar does Amir eat?

What fraction of the bar does Whitney
eat?

) 8
Amir eats o of the
chocolate bar and
) 3
Whitney eats = of

the chocolate bar.



